=

A Al & e
= ES 18 = £
% F6ETEEIS #H % B B|REKEBTKER
£ R TaB&EEE Y 2—FERY TR EHEIEER
% | Femstbty 2 — B 17 % m|120 2R
E X X 9|TOMEE ARl - BRFE|IEEFREALL
A A B E|SHM6ETANE 118005 1B B BEA 55 & LA (FRFH) 2 FBHEE |
# 7 B BMBESENRESR hva & AN BHRERE
yoEmo® ¥1,061,000
RESE @R _
A A £ 2
No. (EER RSN = 1[m 22\ % 3Mm i g
| |ErTE ) FHM
2| (%) NHESIE ¥860,000 %A
3 |BIMETE (B BREEEF B8
4] ) TAT EEEER B8
5(@kTvy (%) ¥1,200,000
6| (B) —EF ¥2,500,000
7| B #rmmTE B8
8 [ AMTH () B8
9 [XFITHE () B8
100/GT7) —vR—F~ (%) ¥1,045,000
11| () T4 %&b B8
12|fRAIEHE (%) RIBEXRT ¥1,380,000
13|BEBAL—tr—>ay (B) EBBFIZALEYE— R
14|2—7 A BHTE e
15|FETE () ]
16| (%) =BT ]
17
18
19
20




